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Match #28


These questions are for use in the Virginia High School League’s Scholastic Bowl District competition. Shawn Pickrell, Jason Mueller, and Dan Goff are the authors of these questions; further editing was done by Adam Fine and Marian Suter.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL District champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your District’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
The battle of Aegospostami (ay-gohs-poh-stah-mee) largely ended this war, although Samos held out another year. The winners installed a regime known as the ‘Thirty Tyrants’ and suspended democracy. The early part of this war, before the Peace of Nicias (neye-see-us), is well-documented by Thucydides (thoo-sih-dih-deez). What war, fought between 431 and 404 B.C., pitted Athens against Sparta? 

ANSWER: Peloponnesian War

2.
This state didn’t bother to put a dome on its capitol building until 2002, but there is still an oil derrick nearby. It has 39 Native American tribal governments within its borders; indeed, its name comes from Choctaw words meaning ‘red people.’ What state contains the cities of Stillwater, Lawton, Norman, Enid, and Tulsa? 

ANSWER: Oklahoma
3.
They are are distinguished by having the 5f subshell as their outermost subshell.  They are all radioactive and examples of them include thorium, neptunium, curium, and nobelium.  Name this periodic table series that ranges from elements 89 to 103, located below the lanthanides.

ANSWER: actinide or actinoid
4.
They were known as the futhark by people who used them. They are generally grouped into three categories: Elder, Anglo-Saxon, and Younger. While they were used mostly between 150 and 1100 AD, their use persisted in rural Sweden until the 19th century. The Nazis made heavy use of them in their mystical symbolism, since Odin allegedly invented them. What was this alphabet used for Germanic languages? 

ANSWER: Runic alphabet or rune(s)

5.
In 2001, he was fired for expressing support of the Anti-Ballistic Missile Treaty shortly after the US abandoned it. In 2006, he overcame India’s Shashi Tharoor to win his current job and named Tanzania’s Asha-Rose Migiro (mee-ghee-roh) as his deputy. Who succeeded Kofi Annan as Secretary-General of the United Nations?

ANSWER: Ban Ki-Moon (prompt on Ki-Moon)
6.
He was editor of The Sporting News in 1910 and 1911. He worked with George Kaufman to write the play June Moon. What sports reporter and would-be playwright is better-known for his short stories that include ‘The Golden Honeymoon,’ ‘You Know Me Al,’ and ‘Alibi Ike’ and the collection ‘How to Write Short Stories’? 
ANSWER: Ring Lardner, Sr.
7.
THIS IS A COMPUTATION QUESTION. If A equals 26, B equals 25, etc., down to Z equals 1, what is the numerical value of G times T times Q, given that G equals 20, T equals 7, and Q equals 10?

ANSWER: 1400
8.
It uses an iron catalyst and is promoted by aluminum oxide and potassium oxide. If this process had not been developed, World War I would have ended in 1916. Sometimes co-named for Carl Bosch, it ended the need for Germany to import saltpeter from Chile. Name this process named after a German chemist that is used for producing fertilizer and is the reaction of nitrogen and hydrogen to produce ammonia.

ANSWER: Haber process (accept Haber-Bosch or Bosch process before ‘Bosch’ is said in the question)
9.
This river, along which lies Saint Anthony Falls, had massive floods in 1927 and 1993. The Army Corps of Engineers has built a system of 29 locks and dams along its upper stretches. It empties into the ocean at the so-called ‘End of the World’ in Plaquemines (plah-kuh-manz) Parish, Louisiana. What river runs 2,320 miles from Lake Itasca in Minnesota to the Gulf of Mexico? 

ANSWER: Mississippi River

10.
This hairstyle appeared in P.T. Barnum’s ‘Circassian beauties’ that were the ‘purest examples of the white race,’ as well as in Egyptian hieroglyphics. It became popular again in the 1960s as a response to the ‘conk.’ Volume can be added to it by using a special comb known as a ‘pick’ or by blow-drying. What hairstyle is associated with African-Americans and the 1970s in general?

ANSWER: afro(s) (accept fro or natural)

11.
The European species is Castor fiber and the North American species is Castor canadensis. They live in riparian zones and their teeth never stop growing. This furry semi-aquatic rodent that appears on the back of the Canadian nickel is the mascot of Oregon State University. What animal is known for building houses called lodges and especially for building dams? 
ANSWER: beaver
12.
She was beatified after Monica Besra was cured of a stomach tumor. She won the 1979 Nobel Peace Prize for ‘work undertaken in the struggle to overcome poverty and distress.’ Sister Nirmala is now the head of the Missionaries of Charity, the order of nuns she founded. Agnes Bojaxhiu (baw-yah-zhoo) was the birth name of what Albanian nun who served the poor of Calcutta? 

ANSWER: Mother Teresa of Calcutta (accept Blessed Teresa)
13.
Gaylord Nelson, a US Senator from Wisconsin, suggested this annual event first held in 1970. The first celebrations included, somewhat counter-intuitively, opposition to the Vietnam War. One of the items affiliated with the 2007 event was a pledge to switch from incandescent light bulbs to compact fluorescents.  What is this event, held every April 22 in appreciation of the planet on which we live?

ANSWER: Earth Day
14.
Areas in this building include the Round Reading Room and the Great Court. Sir Hans Sloane gave this museum its initial collection in 1753, and today it has 13 million objects. Its collections include the Warren Cup, the Black Obelisk, the Cyrus Cylinder, the Benin Bronzes, the Rosetta Stone, and the Elgin Marbles. What museum is located, as its name suggests, in London? 

ANSWER: The British Museum
15.
He has the number A-7713 tattooed on his left arm. His memoirs are in two volumes: All Rivers Run to the Sea and And the Sea is Never Full. The author of The Forgotten and The Oath, he was ‘very not interested’ in becoming President of Israel. He was attacked in February 2007 by Eric Hunt, a Holocaust denier. What Holocaust survivor wrote two works, Dawn and Day, along with his semi-memoir, Night? 
ANSWER: Elie (or Eliezar) Wiesel
Second period, 10 directed questions per team, 10 points each
Set A questions have an ‘A’ after their number; set B questions have a ‘B.’ 

1A.
In 1946, Winston Churchill said that what object had descended across Europe from Stettin (shteh-tin) to Trieste (tree-eh-stay), dividing Europe? 

ANSWER: Iron Curtain
1B.
The term ANS (quizmaster: spell it out) refers to what part of the nervous system?

ANSWER: autonomic or autonomous (accept visceral, even if it doesn’t start with ‘A’)
2A.
THIS IS A COMPUTATION QUESTION. Convert 11/32 into a decimal.

ANSWER: 0.34375
2B.
Roy demands “more life” in what science fiction classic where Rick Deckard has to hunt down Roy and four other replicants?

ANSWER: Blade Runner
3A.
The Reverend Mr. Hooper decides to obscure his face in what short story by Nathaniel Hawthorne?

ANSWER: “The Minister’s Black Veil”

3B.
THIS IS A COMPUTATION QUESTION. In lowest terms, what is 27/56 divided by 15/16?

ANSWER: 18/35
4A.
Northern Virginia localities like Prince William and Stafford Counties have announced that they are going to be denying government services to what group of people?

ANSWER: illegal immigrants or illegals (Accept ‘undocumented’ in place of ‘illegal’ clear-knowledge equivalents)

4B.
What term comes to us from the Spanish Civil War and describes a group of people that undermine a cause or nation they are supposed to be serving?

ANSWER: fifth column(ist)

5A.
Andrew Speaker made the news in 2007 by having a drug-resistant form of what disease?

ANSWER: tuberculosis
5B.
The independent cities of Lexington and Buena Vista (bun-nah vih-stuh) are in what Virginia county named for a natural arch? 

ANSWER: Rockbridge County

6A.
It is the slowest of the Latin ballroom dances in American ballroom dancing. What is this dance, also the name of a Maurice Ravel work? 

ANSWER: bolero
6B.
While ordinal numbers such as first, second, and third indicate ‘order,’ what type of numbers such as one, two, and three indicate the numbering of a group?

ANSWER: cardinal numbers

7A.
People in the city of Oran in Algeria deal with an epidemic in what novel by Albert Camus (kah-MOO)?
ANSWER: The Plague
7B.
What term describes financial transactions that are designed to conceal the source of money and thus ‘make clean’ the profits from criminal activity? 

ANSWER: money laundering
8A.
What African empire arose around 1235 from the state of Mandinka, and is best known for its ruler, Mansa Musa? 

ANSWER: Mali empire

8B.
The positron is the antiparticle of what particle?

ANSWER: electron
9A.
THIS IS A COMPUTATION QUESTION. Solve for x and y.  2x plus 3y equals 11 and 4x minus 3y equals 13.

ANSWER: x equals 4 and y equals 1 (either order is acceptable)

9B.
What polygon makes up the faces of a dodecahedron?

ANSWER: pentagon(s)

10A.
What naturalized Hungarian atomic scientist helped Oppenheimer lose his security clearance and was known as the ‘father of the atomic bomb?’ 

ANSWER: Edward Teller
10B.
What term in Shinto describes not only gods, but also the spirits within objects? 

ANSWER: kami
Third period, 15 toss-ups, 10 points each

1.
Martin Scorsese (skor-SAY-see) said “… (H)e only existed on his records. He was pure legend.” Little is known of his life, but he married twice and died on August 16, 1938. On first hearing his solo guitar work, Keith Richards asked who was playing with him.  He had only one minor hit during his 27 years: “Terraplane Blues.”  The album King of the Delta Blues Singers was a collection by what legendary blues guitarist? 

ANSWER: Robert Johnson
2.
It was written by James Madison and presented by Edmund Randolph. Its 15 resolutions proposed a bicameral legislature where representation depended on population. William Paterson opposed it and presented an alternative with a unicameral legislature giving one vote per state. The Great Compromise was between Paterson’s New Jersey plan and what other plan, named for the home state of James Madison? 

ANSWER: Virginia Plan
3.
Its discovery in 1962 won its namesake the 1973 Nobel Prize in Physics.  It can be used to measure the size of a volt, the ratio of electron charge to Planck’s constant, or potentially to make superfast computers.  It can be influenced by magnetic fields and potential differences.  Name this phenomenon that is current flow across two superconductors, separated by a thin insulator. 

ANSWER: Josephson effect (accept Josephson junction)

4.
It appeared in 27 installments in Rolling Stone in 1984. It ends with a New York Times article that describes the marriage of Peter Fallow as well as how Maria Ruskin avoids prosecution by fleeing the country. A Black teenager, Henry Lamb, is comatose after being hit by a car belonging to ‘Master of the Universe’ Sherman McCoy. Wall Street is taken apart in what first novel by Tom Wolfe?
ANSWER: Bonfire of the Vanities
5.
The most successful enemy in this fantasy series is General Ironbeak, who nearly conquers the Abbey, which is in Mossflower Woods. Other books in this series are about the Badger Lords of Salamandastron (sah-lah-man-dah-strawn). Most of the protagonists are mice and the villains are rats. Eulalia is the latest book in what series by Brian Jacques (jakes) that features Martin the Warrior? 
ANSWER: Redwall series

6. 
Plotlines in this series include Novacom trying to brainwash the world and Dr. Regis Blackgaard trying to steal a computer program. Recurring characters such as Katrina Shanks, Eugene Meltsner, and Connie Kendall assist the main character, John Avery Whittaker. What series, mostly set at Whit’s End, is produced by Focus on the Family and is broadcast on hundreds of Christian radio stations? 
ANSWER: Adventures in Odyssey (accept Odyssey, USA)
7.
It is a variable sized block of memory involved in transfers between physical memory and hard disk. It is a Virginia county that contains the towns of Stanley, Shenandoah, and Luray. In medieval times, it was a young boy who hoped to become a squire. It is someone that delivers papers and runs errands for members of the Virginia General Assembly. What is the name of each side of a piece of paper in a book?

ANSWER: page
8.
Because of the material being used to test it, this property of minerals can only be tested using minerals that have a hardness of approximately 7 or less.  Flourite's is always white, hematite's is red, and gold's is yellow.  Most of the minerals with hardness of more than 7 have a white one.  What physical property of minerals describes the color of the powder left behind when the mineral is rubbed across a porcelain plate?

ANSWER: streak
9.
After becoming king, he wrote the Anti-Machivel, a rebuttal of The Prince. Napoleon said of him, ‘[I]f this man were still alive I would not be here,’ after a visit to his tomb in Potsdam. With his Russian and Austrian counterparts, he partitioned Poland in 1772. He captured the province of Silesia from Austria during the War of the Austrian Succession. The Seven Years’ War was also fought by what King of Prussia? 
ANSWER: Frederick the Great or Frederick II
10.
She doesn’t appear in any Greek legends, but first appears in Book Six of Ovid’s Metamorphoses as a woman from Lydia. After ignoring the pleas of an old woman not to anger the gods, she was challenged to a contest. She killed herself after her depiction of twenty-one transgressions of the gods angered Athena, whom she had beaten in a weaving contest. Who did Athena then take pity on and turn into a spider? 

ANSWER: Arachne (uh-rak-nee)
11.
Catholic clergy wear something similar called a zucchetto (zoo-ket-toh). According to the 16th century Shulchan Aruch (shool-khan ah-rookh), one should not walk more than four cubits without one on. Women in the Reform and Conservative movements sometimes wear one. Visitors to the Western Wall or any synagogue should wear one, regardless of faith. What are these head coverings associated with Judaism? 
ANSWER: kippah or yarmulke
12.
She married Richard Schiller and dies in childbirth at age eighteen. She became friends with Mona Dahl at the Beardsley School, which she attended for a year after the death of her mother, Charlotte Haze. At age twelve, she ran off with the playwright Claire Quilty. What ‘nymphet’ appears in a Vladimir Nabukov novel as the love interest of the much-older Professor Humbert? 
ANSWER: Lolita or Delores Haze

13.
A unary operation has this property if applying twice to an element gives the same result as applying once.  Constant functions and identity elements have this property.  Name this mathematical property that a binary function has if composition with itself yields itself.

ANSWER: idempotence or idempotent
14.
This phrase was coined by John O’Sullivan in 1845. It was briefly revived in the 1890s to justify American wars overseas. It became unpopular in the mid-1850s after the Ostend Manifesto linked it to slavery, but was the spirit behind the movement to annex the entire Oregon Country – ‘Fifty-four forty or fight!’ What two words described the belief that the United States’ fate was to expand between the Atlantic and Pacific? 
ANSWER: Manifest Destiny
15.
It converts ammonia to urea, produces triglycerides, breaks down hemoglobin, stores glycogen, is capable of regeneration, and produces bile.  Name this four-lobed organ that is affected by diseases such as Wilson’s disease, Gilbert’s syndrome, hepatitis, and cirrhosis.

ANSWER: liver
Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
In the 15th century, the poet Maffeo Vegeo wrote a ‘supplement’ to this ancient epic, picking up from the end where Turnus is killed. It begins with Venus encouraging the protagonist to flee westward with his son Ascanius and his father Anchises. The protagonist settles in Latium after seducing the queen of Carthage, Dido. A survivor of Troy’s fall is the protagonist of what epic by Virgil about the founding of Rome? 

ANSWER: the Aeneid (uh-nee-id)

2.
THIS IS A COMPUTATION QUESTION. What is the area of a trapezoid of height 12 feet and base lengths 6 feet and 12 feet, given that the area is equal to height times the average of the bases?

ANSWER: 108 square feet
3.
Of the three types, the thin version mostly displays graphics, as it does not allow for local storage or processing. The fat version allows storage and processing, where the hybrid version allows processing but not storage. Name this type of computer system that accesses, via a network, a service on another machine called a ‘server.’ 

ANSWER: Client

4.
This type of contract dates back to the ‘burial clubs’ of ancient Rome. The modern variety dates to 17th century England, when traders at Lloyd’s of London decided to protect against loss of – themselves. Today, it comes in endowment, universal, whole, and term varieties. What contract is an agreement for one party to receive periodic payment, and then to pay a certain amount after the other party’s death? 

ANSWER: life insurance
5.
This game’s third version will be developed by Neversoft. The first two were made by the firm that also brought FreQuency and Amplitude to the Playstation 2. Detroit Tigers pitcher Joel Zumaya injured himself playing it. This Harmonix game’s first two PS2 editions came with replica Gibson SG’s. What game allows players to perform songs ‘as made famous’ by bands like Nirvana and Lynyrd Skynyrd?

ANSWER: Guitar Hero
All questions ©2007 Scholastic Bowl Company of Virginia, Inc. Unauthorized use, as described on the first page of this document, is prohibited.

